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1. UToMizEZ X, (BAOAREE.)

(1) 77573 3 5 A2, 0), B(—1, 0), C(3,8) ZiE3 X 5% 2 REKERD X,
(2) 1000 UTOBERED 5B, 5 DB ELIL 7 OFBIRIBOBERERD X,
(3) 2 EHETREIN/MY 110101 % 10 HEEOMLTEE,

(4) AABC il BC, CA, AB Liczhzii P, Q R3HD, 3HEF AP, BQ,
CRM1RTRbB¥ WS, AR:RB=2:3, AQ:QC=4:1 0¥ %, BP:PC %
gtabcko ’

(5) 20D a2+ =1 & (z-3)2+ (y—4)2 = 12 DHET B L5288 r 2RD &,

(6) sinf — cosf = -% DY E, sinfcosd DHEZRD X,

(7) &K log,(3z ~ 1) < 2 BT,

(8) 2 (2, —1,3), (1,4, -5) ZE5EMOFERNERD X,



3HD3E 2 KE
FHAEE  FAZRBRMERN O3S %

ez E=
2. KAQ, —1) B BRI y = o + 302 1Bl R BROHERERD &,
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3. Eﬁﬁf |o* — 3] do %R X,
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